
     6 × 2𝑎 = 12𝑎

−4 × 3𝑚 =

  3𝑥ଶ × 6 =

𝑎 × 𝑎 = 

    5𝑚 × 2𝑚 =

−5𝑛 × −2𝑛 =

    𝑎 × 𝑎 × 𝑎 =

        2𝑎 × 𝑎 =

     2𝑥 × 3𝑥ଶ =

−5𝑥ଷ × 2𝑥ଶ =

      𝑥ଷ × 3𝑥ଶ =

  (−5𝑥)(3𝑥) =

Multiply the following polynomials.

3(2𝑎) = 

−2𝑎(−3) =

−5𝑥(−2𝑥) =

𝑥ଶ(−𝑥) =

2𝑥(5𝑥) =

−3𝑎ଶ(2𝑎) =

2𝑎𝑏ଷ(𝑎𝑏ଶ) =

3𝑎𝑏ଶ(2𝑏) = 

−2𝑎ଶ𝑏(−𝑏ଶ) =

Multiply the following polynomials.

3𝑥𝑦 × 9𝑥𝑧 =

5𝑥ଶ × 𝑦𝑧 =

5𝑥ଶ𝑦ଷ × 9𝑥𝑦ଷ =

5ଶ × 𝑦𝑧 =

−2𝑥ସ𝑦ଶ − 3𝑥ିଵ𝑦ଷ =

5ଶ × 3ଶ𝑥𝑦𝑧 =
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𝑎

𝑎
⎯⎯= 

6𝑎

2
⎯⎯⎯= 

6𝑎ଶ

2𝑎
⎯⎯⎯ =

4𝑎ଶ

𝑎
⎯⎯⎯ =

12𝑥ଷ

4𝑥ଶ
⎯⎯⎯⎯⎯=

𝑥ସ

2𝑥ଶ
⎯⎯⎯ =

6𝑎 ÷ 2 = 3𝑎 9𝑥ଶ ÷ 3 = 12𝑥 ÷ −4𝑥 =8𝑚 ÷ 2𝑚 =

−6𝑚 ÷ 3 = −10𝑛 ÷ −2𝑛 =

18𝑥ଷ ÷ 3𝑥ଶ = −4𝑥ଷ ÷ 2𝑥ଶ =

−8𝑚ଶ ÷ (−2𝑚) =(−15𝑥) ÷ (3𝑥) =

𝑥 ÷ 𝑥 =

Divide the following polynomials.

−4𝑥

−10𝑥ଶ
⎯⎯⎯⎯⎯⎯=

2𝑎

3𝑎ଶ
⎯⎯⎯ =

15𝑠𝑡ଶ

𝑡
⎯⎯⎯⎯⎯ =

24𝑥ଶ𝑦ଷ

16𝑥ଷ𝑦
⎯⎯⎯⎯⎯⎯⎯=

4𝑠𝑡

−6𝑠𝑡
⎯⎯⎯⎯⎯=

−2𝑠𝑡ଶ

4𝑠ଶ𝑡ଶ
⎯⎯⎯⎯⎯⎯=

10𝑏ଶ𝑐

5𝑐ଶ
⎯⎯⎯⎯⎯⎯=

3𝑥ଶ

15𝑦
⎯⎯⎯ =

𝑎𝑏ଶ

−3𝑎𝑐
⎯⎯⎯⎯⎯=

−2𝑥ଶ

−𝑥
⎯⎯⎯⎯⎯=

−2𝑥

𝑥ଶ
⎯⎯⎯⎯=

5

5
⎯⎯=

1

1
⎯⎯= 

6𝑥

2𝑥
⎯⎯⎯=
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4𝑥 + 2

2
⎯⎯⎯⎯⎯⎯=

4𝑥

2
⎯⎯⎯+

2

2
⎯⎯= 2𝑥 + 1

6𝑥 − 3

3
⎯⎯⎯⎯⎯⎯=

Separate into an addition/subtraction of fractions and simplify.
−5𝑥 + 10

2
⎯⎯⎯⎯⎯⎯⎯⎯⎯=

−6𝑥 − 6

3
⎯⎯⎯⎯⎯⎯⎯⎯=

5𝑥 − 10𝑦

5
⎯⎯⎯⎯⎯⎯⎯⎯ = 6𝑥 + 8𝑦

−2
⎯⎯⎯⎯⎯⎯⎯ =

4𝑥 + 2

−2
⎯⎯⎯⎯⎯⎯=

6𝑥 − 3

−3
⎯⎯⎯⎯⎯⎯=

−5𝑥 + 10

−2
⎯⎯⎯⎯⎯⎯⎯⎯⎯=

4𝑥ଶ − 8𝑥 − 16

4
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯=

6𝑥ଶ − 12𝑥 + 18

−6
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯=

−5𝑥ଶ − 10𝑥 + 20

−5
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯=

5𝑥ଶ − 10𝑥𝑦 + 20

−5𝑥
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯=

5𝑥ଶ + 𝑥

𝑥
⎯⎯⎯⎯⎯⎯⎯=

3𝑥ଶ − 𝑥

𝑥
⎯⎯⎯⎯⎯⎯⎯=

−5𝑥ଶ − 3𝑦

𝑥
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯=

4𝑥ଶ + 2𝑥

−𝑥
⎯⎯⎯⎯⎯⎯⎯⎯=

8𝑥ଶ + 4𝑥

2𝑥
⎯⎯⎯⎯⎯⎯⎯⎯=

−9𝑥 − 3𝑦

3𝑥
⎯⎯⎯⎯⎯⎯⎯⎯⎯=

−10𝑥ଶ − 5𝑥

−5𝑥
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯=

9𝑥ଷ + 6𝑥ଶ − 3𝑥

3𝑥
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯=

10𝑥ଶ − 7𝑥

5𝑥
⎯⎯⎯⎯⎯⎯⎯⎯⎯ =

3𝑥 − 6

𝑥ଶ
⎯⎯⎯⎯⎯⎯=

5𝑥 − 7

−2𝑥
⎯⎯⎯⎯⎯⎯=

30𝑥ଶ − 20𝑥𝑦 + 15𝑦ଶ

𝑥
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯=

2𝑥ଶ − 6𝑥𝑦 + 4𝑦ଶ

2𝑦ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯=

3𝑥𝑦 − 4𝑥 + 5𝑥ଶ

−𝑥
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯=

5𝑎𝑏 − 10𝑏ଶ + 3𝑎

𝑎𝑏
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯=

M9 - 5.3 - Dividing Polynomials W=HW

   Poly Page 3    


